Appendix A – Factoring and LCM’s

Definition:  The ________________________ is the set of numbers {1,2,3,4,5,…}.

Definition:  To _________________ a number means to express the number as a product.  (verb)

Ex 1:
Factor 60:         ____________           ____________          ____________

                                   ____________           ____________          ____________

Definition:  The ________________ of a natural number are any of the natural numbers that can be used in a factorization of that number. (noun)

Ex 2:
The factors of 60 are:  ____________________________________________

Definition:  A natural number that has exactly two different factors, itself and 1, is

called a  ______________________________.

Definition:  A natural number that has more than 2 different factors is called a 

__________________________________.

Note: 
The factors of 3 are 3 and 1 so 3 is prime.


The factors of 6 are 6, 3, 2, and 1 so 6 is composite.

Ex 3:
Determine if each of the following natural numbers is prime, composite, or neither.


a)
5
_______________

b)
9
_______________


c)
23
_______________

d)
1
_______________


e)
2
_______________

f)
91
_______________


g)
112
_______________

h)
83
_______________

Definition:  The _________________________________________ of a composite number is the factorization that consists of only prime numbers.

Ex 4:  Find the prime factorization of:


a)
24


b)
200


c)
154

Least Common Multiples (LCM’s)

Ex 5:
The multiples of 6 are:  6, 12, ______________________________________


The multiples of 9 are:  9, 18, ______________________________________


The common multiples of 6 and 9 are:  ______________________________


The Least Common Multiple (LCM) of 6 and 9 is _________.

This method for finding the LCM works for small natural numbers, but is cumbersome for larger numbers and impossible for algebraic expressions, so the above example is just to explain the concept of a LCM.  The following is a method that will always work for finding an LCM.

Prime Factorization Method for Finding the LCM:

a. Find the prime factorization of each number.

b. The LCM will be the product of the different factors from step a, using each factor the greatest number of times that it occurs in any one of the factorizations.

Ex 6:
Find the LCM of 12 and 30.


12 = __________________

30 = _____________________

LCM of 12 and 30 is ______________________________

Ex 7:
Find the LCM of 24, 45, and 60.


24 = _______________  45 = _______________  60 = _______________


The LCM of 24, 45, and 60 is ___________________________________

Ex 8:
Find the LCM of 36, 75, and 40.


36 = _______________  75 = _______________  40 = _______________


The LCM of 36, 75, and 40 is ___________________________________

